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Bode Diagram
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(b)

g [dB]
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rad/sec]| 1 2 3 4 5 6 8 10 20
dp | 179 108 | 59 | 1.9 | -13 | -41 | -87 | -124 | -24.2
[dfg] -108 | -124 | -135 | -143 | -149 | -153 | -159 | -163 | -172
dp | 03| 13 | 27 | 44 | 44 | 19 | -53 | -102 | -236
[dﬁg] -7 | -16 | -29 | -53 | -90 | -117 | -148 | -158 | -171

A% M, =4.8dB)
TR w, = 4.6[rad/sec]
o o % wpy = 7-6[rad/sec]
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(@ ol5ol, AFelf, olSolfF st
ans =
Inf 33.2844 Inf
(b)

resonant_peak =

4.8235

resonant_frequency =

4.6416

bandwidth =

7.5646

(c)

rise_time =

0.2600

peak_time =

0.6600

percent_overshoot =

37.2318

settling_time =

2.2400
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